LEDA = LEBA [Same segment angles are equal] (A,B,D,E are Cyclic)

LCBA = LCNA [Same segmentA,B, N,C are cyclic]
(2EBA)
.DEB = 2DAB [Same segment A, B,D,E are cyclic]

.DAB = 2CMB [ Same segment A,B,C,M are cyclic]

(£CAB)
Now consider A COQM & A CRE

LR = £Q =90°

LM = £E [Proved]

CM = CE [ Given]

.~ ACQM = ACRE [AAS congruency)

= CQ = CR [CPCT] (1)
Similarly ACPN = ACRD [AAS congruency]
= CP = CR [CPCT] (2)

From (1) & (2) CQ=CP



Now consider A COQ & ACOP
£Q=2P =90°

CQ=CP (Proved)

CQ = CO (common side)

-~ ACOQ = A COP [RHS Congruency]
=~ CQ=O0P [CPCT]

Hence Proved .
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